Warm Up 11/8/18
1. Andre's car was bought fom @%.

Tpéay it is worth/$20,00Q) Write an equation to
represent the total value of the car.

(0,25000)  20wD-26000 - (5000
(> ,20,000) 5-p T~ 5
M= -23000 @

2. Write the equation of the line that has an x-
intercept of -6 and y-intercept of 12.

(0)12) o D-12= -1z
(~4,0) S0~
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W s Determine whether the sequences are arithmetic sequences.
M‘g an If yes, identify the common difference.

Arrthme+e

sequence 1. 1,5,9, 13, .. %@A A=Y 2.1,355.. NO

3.8,6,4,2, %213 d=-2 4.5 8 -11,-14, %:_:) d_‘;-:
5..5.10. 20, 40. .. 6705 4.
10, 20, 40 NO 4 d‘-—'—"l

Arthme+ie
Seguentes

Given the arithmetic sequence, find the nexﬂ‘hme terms.

79D 17N, _25 ﬁ =23 _a-_-;b‘
8.52-14 1. ~lo —]3 A= -2

9.8, -2, 4, 10,&2,_218 d:_': (.Q




The » ™ term of an arithmetic sequence can be found

=+
Gl =d(n-)+Q, & ;;rm

Ar-hme o using the following formula:
Sequente
Formula
d= Cbmnon
10. 7, 13, 19 25
Examples
Write the rule for Qn= (O(n —H7
the nth term,
then find ajs. Qn_ (DY\ — LO+7
On= (Dh"r \

ar= 1St term in

11. 3{1-?(;\%2 %2%0_@&&&4
n= —H Q’") +30
An= —Un+4+28
A= —HNn+21

LY

Ao = (o)

[\

A= -409)v20

S



Main Ideas/Questions

Notes

TR

13.-2,0, 2, 4, ...

14.-15 -2 9%, 31 -

15. 101, 92, 83, 74, ...




Real Life
Applications

d——_;.'2>2- O = 32(”"1)—\- (o

16. You visit the Grand Canyon and drop a penny off the edge of the cliff.
The distance the penny will fall is 16 feet for the first second,48 feet
the next second, 80 feet the third second, and so on.

a. Write' g%rm‘ﬁ to%?r!s%nf this sequence.

An= 32n —232H
TOn= 32Zn — 1)
- How far will the penny have traveled after 6 seconds?

A= 210

d=-
&, =1520

17. The total bank loan for Sarah’s new carjs-$d5,265. The bank
automatically withdraws $295.80 ea @. pay off the car.

a. Write a formula to represent this sequence.

80 0=-295 0(h- )4 5205

> On=2BRon¥ 2950 H5 204,
An=-2Z5Fn+ 1‘55%%0

b. What will be the balance of the loan after

Oz - 296 R 5500 KO
$u61. 00



